
At the intersection point, the polar coordinates ሺ𝑟ଵ,θଵሻ along the first curve are 
equivalent to the polar coordinates ሺ𝑟ଶ, θଶሻ along the second curve.
We have 𝑟ଵ ൌ sin 2θଵ and 𝑟ଶ ൌ sin θଶ.
For these polar coordinates to be equivalent, one of the three following scenarios 
must happen:

Either 𝑟ଵ ൌ 𝑟ଶ and θଵ ൌ θଶ ൅ 𝑘2𝜋•
𝑟ଵ ൌ െ𝑟ଶ and θଵ ൌ θଶ ൅ 𝜋 ൅ 𝑘2𝜋•
𝑟ଵ ൌ 𝑟ଶ ൌ 0 and θଵ,θଶ are arbitrary•

1) Graph the curve 𝑟 ൌ sin𝜃, 0 ൑ θ ൑ 2π
2) Find the intersection of two polar curves 𝑟 ൌ sin 2𝜃 and 𝑟 ൌ sin𝜃.
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